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Attention : The result of the rolling process has to be checked on the basis of the reference dimensions in this
roller plan. Please note the examination advices of the current roller manual
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( Pos. 8 et 14 uniguement pour Isomat 4 )

Qté | Art. N° Accessoires
Qty. |Art.-No. Accessories

282821

1413

Rouleau
serfissage

Isomat 4/5

Disposition (de I'intérieur vers I'extérieur)

Art.-No.

fur Isomat 5

Art.-No.
fiir Isomat 4

Assembly sequence (inside to outside) R1 6

(20.0 mm)

R2 [ 6

296210 (10.0 mm)

280696 B

R1/A1/R3/R2

R3 | 6

280743 (5.0 mm)

280696 B

R1/A2/R3/R2

280697 B

R1/A3/R3/R2

280697 B

R1/A4/R3/R2

280695 B

R1/F1/R3/R2

280695 B

R1/F2/R3/R2

Périmeétres
Circumference

Tolérance admissible

Permissable tolerance ve

PU Info-Plan:

a polir
polished

Echelle Poids

total . ;
total Scale 1 : Weight

Tolér. standard

Std. tolerance Matiere
Original / Modification Date Material
Revision / Version 0201 Date

Nom 05.01.2024
224093 devient 284295 Dessiné Devilliers, D.
otk Devilliers, D.
soon Bourreau, P.

scHUCO

Tolér. limite
Close tol.

Désignation
Title

Plan des rouleaux

Isomat 4/5
Schiico ASS 39 SC

430890 RP 0000

Remplace le
Replacement
for

Plan N°
Drawing No.

Réalisé par informatique
Valable sans signature
generated by EDP

valid without signature
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